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General Instructions :

1.  Candidate must write his/her Roll Number on the first page of the Question Paper.

2.  Please check the Question Paper to verify that the total pages and the total number of
guestions contained in the Question Paper are the same as those printed on the top of
the first page. Also check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the

Answer-Book given to you.

4.  All the questions including objective type questions are to be answered within the
allotted time and no separate time limit is fixed for answering objective type questions.

5.  Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

6.  Write your Question Paper Code No. 63/S/A-A on the Answer-Book.

7.  The Question Paper is bilingual. In case of doubt, the English version should be
considered as authentic.
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ACCOUNTANCY
(GEEIET)
(224)

Time : 3 Hours]
g 3 |

[Maximum Marks : 100

[quitss : 100

Note : (i) All questions are compulsory.

(i)  Marks allotted for each question are indicated against it.
fdw: () =t ovm eifem )

(i) Ok U9 & 3ieh Ik AV I T 3|

1. Which convention is based on the principle of "Anticipated no profit, but provide

for all possible losses."

(A) Convention of materiality
(B) Convention of conservatism
(C) Convention of consistency

(D) None of the above

[1]

HA-H Ul 38 fagma W snaria g T o | emon A =, |t iRt & o eam

w2

(A) e i aRa
(B) wigantan s ufarél
(C) wng&uar &t aRurél
(D) SWIeh | § i3 TE
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2. Debit vouchers are prepared for recording of [1]
(A) transactions involving cash payments only
(B) transactions involving cash receipts only
(C) transactions not involving cash

(D) none of the above

AT JHIUTE S A § -

(A) et Tehg A o el &g
(B) ot Jehg WifwEl & wieAl 2g
(C) R-Tehg e 2g

(D) Swih 4 foreht o foro

3.  Which of the following errors will not be disclosed by Trial Balance? [1]
(A) Wrong casting
(B) Posting of wrong amount
(C) Posting an amount twice in an account
(D) Errors of complete ommission
= ° | wm- sfgat aeue g ehe € 8 Ui ?
(A) TeTa =
(B) et ¥ <ht T
(C) u= T & T afet A QR T

(D) quia: ge 9 areft srgfegat
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4.

Which one of the following is not a factor affecting annual depreciation on an
Asset? [1]

(A) Cost of Asset

(B) Scrap value of the Asset

(C) Useful life of the Asset

(D) Annual maintenance cost of the Asset

o 7 & foreht wufv B anfifes g =t v = aTen wwes SiA- TE 27
(A) wuf & e

(B) wufd w1 EfE gea

(C) wdufa =t 3u=mft Sfem

(D) @ufd <kt arftier WevwETa @Rt

5. Which of the following is a direct expense? [1]
(A) Discount allowed (B) Interest paid
(C) Freightinward (D) Commission paid
fraferRaa @ & e = FR-w 82
(A) gzl wam feman (B) = e fean
(C) wret 3w (D) wHy= 1 e fohan
6. Which short-cut key we would use for company and company information? [1]
FHI 3R W GIT o foru gu fora wiid—whe Shelt 1 T
(A) F3 (B) Fl1
(©) FI2 (D) Fl1
63/S/A-224-A] G-949 5 Sk [ Contd......



7. Write any three limitations of accounting. [3]
TR I3 i dm feRam)

8. State any three purposes of preparing journal. [3]
AT S o i dIF 3299 Fd18U|

9. Explain errors of principles with an example. [3]
Tgii<ih AYTgAl i g0 Tfgd AT HifTe|

10. Classify the following assets as fixed assets and current assets. [3]
Debtors, Furniture, Short-term investment, Building, Motor Vehicles, Stock.
Fraferiaa wufwe i g wutE qen o] Hufwt | srftehd hife; IR, TrioR, JTedehiiorh
Fraw, wrem, Are anga, wivan)

11. Define Tally. State any two features of it. [3]
2oft =t uftfva i) gaeht g 31 feviwand warsu)

12. How 'Revenue’, 'Expenses', 'Interest on Capital' and 'Income received in advance'
treated in accounting equation? (4]
G TR | W, =, USH W SN qAn ‘R e S’ i e Segia feman
T 32

13. State any four limitations of Trial Balance. (4]
Aeue il T3 IR TN Fqrgu)

[=]=%[=]
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14. State the meaning and significance of going concern concept. [S]

“HTe] IR TR <hT 3124 qAT Hgwa Sarse|

15. Define the following terms : [5]
(A) Intangible Assets
(B) External liabilities
(C) Creditor
(D) Stock
(E) Revenue
Frfeiaa wet st ufiwia it
(A) omed wafwat
(B) = gEam™
(C) = erR
(D) e

(E) omm

16. What is meant by a "Bank Column Cash Book"? Draw the format of it. How the
following transactions are recorded in this book? [5]

(A) Cash withdrawn from bank.
(B) Dishonour of cheque.

‘e TEH Ahg T W FAT AT ¢ ? HHR! TET S150| 396 el § e et ot form TR
sfeRaa fran s 22

(A) S 9 Uehg e
(B) <Iieh &1 TR0
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17.

18.

19.

On 1* January 2008, a company purchased a plant for ¥ 40,000. On 1% July in the
same year, it purchased additional plant worth ¥ 8,000 and spent ¥ 2,000 on its
erection. On 1* July 2009, the plant purchased on 1* January 2008 having become
obsolate, was sold off for ¥ 25,000. On 1* October 2010, new plant was purchased
for ¥ 26,000 and on the same date, the plant purchased on 1* July 2008 was sold at
% 12,000.

Depreciation is provided @ 10% on straight line method on 31* December every
year. Show the plant account from 2008 to 2010. [S]

1 STt 2008 =t Uk ot A 3 40,000 w1 T Tiet| 36t ad 1 e i 364 2 8,000 | uh
fafieh TEE WtET qe Ieeht TEA R T 2,000 =@ fR| 1 ers 2009 @t 9 99 9o
R S 1 SHEd 2008 w6 wlie o, qon 37 T 25,000 # 9= fomn w1 s 2010 =
26,000 ¥ ush 7= TEE @it = e 36t fafd st 1 Jeg 2008 st wlte @ we= 3 12,000
# =t fean

Tk T 31 fawer o et Y faftr & SsrgEr 10% 6 R @ T o S 21 2008 | 2010
T T I @1 I9E0|

What is meant by computerised accounting? Briefly explain the applications of
computerised accounting. [S]

TR TG © R AT ¢ ? SRaieh U Shezed o SUarT s e i)

Distinguish between book-keeping and Accounting on any four bases. [6]

JEAUTEH ql iEieh o ol gl IR 3TeRl W 3iasie hif|
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20. Prepare a Bank Reconciliation Statement from the following information : [6]

(a)
(b)
(c)
(d)

(e)
()

Balance as per Cash Book ¥ 18,600.
Cheque deposited in the bank ¥ 4,000 not yet collected.
Cheque 1ssued ¥ 5,700 to Harish has not been presented for payment.

A customer deposited % 3,000 directly to the bank for which the trader has no
information.

Bank charges of ¥ 50 not recorded in cash book.
Dividend % 800 collected by bank not recorded in cash book.

FrafefRaa gemn | o mem fero aarsu)

(a)
(b)
(c)
(d)
©)
®

kg E 1 99 T 18,600.

ek W ek T Y WG A qk wUfea & g < 4,000

W &I T 5,700 o <k 9 e, S g 39 SRqA @ gl

T TTEe 1 T 3,000 @A & Sk 0 s e, ek g o % um @ 2|
ek WHR T 50 Thg a&@ | arfireiRem TE gul

ek g1 T 800 =iy wfEa femen e, <t Aok @ ° arfirefam @ 21

21. Enter the following transactions in Purchase Return Book. [6]

Jan. 2018
4 Goods returned to Ramesh T 8,000

08 Goods returned to Kailash being not according to sample
worth T 2,000.

09 Allowance claimed from Mahavir on account of mistake in the
invoice T 300.

12 Returned goods to Madan for ¥ 2,000 less trade discount
@ 10%.

FrteRem oivert i 37 aTaEt aEt § g i

fafr2018

Sl 4 W9 W w9 w3 8,000

T 8§ YR % IEY T T %k FHRUT hearyr i Wi a2 2,000
T 9 <SR | el @14 o hRUT HElR @ &t <t aran foman T 300
Sed 12 wed ot A/ anaE foRan % 2,000 wre SR aeer 10%
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22. Distinguish between Journal and Ledger on any four bases. [6]
Rl TR SNaRt W A= Ta Wl 981 o e 3fa¥e i)
23. What is meant by a provision? State the purposes for which provisions are created.
[6]
T | 1 qeqd @ ? Tae Rl S % 329 a5y

24. From the following information prepare Trading and Profit & Loss Account : [6]

Opening stock - %12,000
Closing stock - 15,000
Purchases - %73,000
Wages and salaries - 6,900
Depreciation - 34,000
Sales - %1,25,000
Interest Received - 31,500
Discount allowed - %200
Rent, Rate and Taxes - 2,500
Carriage inward - 34,000
Carriage outward - T5,000
FrefeiRea Tem @ ‘SuR auT SH-gIH T 991Ee
urfirer e - %12,000
aifam wfeen - ¥15,000
w - %73,000
Hgd U S - 36,900
T™ - %4,000
ferrar - ¥1,25,000
ISR - % 1,500
Fea g - %200
fortrn, Tma W= - 2,500
WIST ATEH - %4,000
WIST A - ¥5,000
[m] 2% []
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25. From the following Trial Balance of Sri. Banwari Das, prepare the Trading and
Profit & Loss Account for the year ended 31% March 2018 and the Balance Sheet

as on that date after taking into account the adjustments given below : [10]
Particulars Debit Balances | Credit Balances
®) ®)
Opening stock 1,800 -
Purchases and Sales 15,600 23,000
Cash in hand 1,700 -
Machinery 4,200 -
Debtors & Creditors 2,600 2,000
Drawings 450 -
Wages 6,000 -
Carriage 400 -
Rent 1,110 -
Trade Expenses 500 -
Power & Fuel 750 -
Advertisement 1,300 -
Bad debts 300 -
Capital - 11,000
Interest - 710
36,710 36,710
Adjustments :
(i) Stock on 31.03.2018 - ¥5,000
(1) Wages outstanding - %500
(i1) Prepaid carriage - %100

(iv) Provide depreciation on machinery at 10% p.a.
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F2 @ T FEEsEel w wEifid wd ge e acue @ oft awetd g @ ad wwfw
31 \rd 2018 1 ‘MR aUT - @A va 36t fafer s gem o’ dur il

feramm I (%) 5= 9w ()
URfeR @i 1,800 -
ERRCRAErY] 15,600 23,000
T kg 1,700 -
e 4,200 -
TAER AT AR 2,600 2,000
ST 450 -
LEE 6,000 -
TSt 400 -
R 1,110 -
HUR 500 -
Fl 9 geA 750 -
fegmam 1,300 -
gad [T 300 -
it - 11,000
ST - 710
36,710 36,710
() 31.03.2018 = wgfean % 5,000
(i) orew Agh 2500
(iii) - WISt %100
(iv) wWeid W 10% 9.9. N R A E- )
OR/31@n

Explain the following adjustments with example and their effects on Final Accounts.
(a) Closing stock

(b) Depreciation

(c) Expenses outstanding

(d) Expenses prepaid

ot |iga Fafeiaa swmsmet qen sifow @t w37 avE @ Jwegu)

(a) aifom wiaen
(b) =™
(c) o=
(d) gE-sEw =
el el el i
63/S/A-224-A] G-949 12



